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JEAT K4 kr | B+ | B | Total | HDCP [ &vh i
B |% B ¥k OH 47 40 87 16.8 70.25 7 kAT &IABRAFAT—F
0 L G P S ¢ 47 52 99 28.8 70.2|AF L R2 RFA/R—

3 |A B /N ¢ 39 39 78 7.2 70.8| 27 /L 22 UTH

4 |F o B %€ F 40 38 78 7.2 70.8|> %A~ AA vk

5 |@E i & 46 48 94 22.8 112127 74 —A )—"7F

6 |XK % F+ HE T 40 41 81 9.6 114|584V RIAY—

7T T B IE % 45 46 91 19.2 T1.8|F ¥y A A/NAY

8 b G 5% 40 44 84 12 72| Eh v T —

9 | m o KR F 41 42 83 10.8 72.2|2F 4" FzaaL—k kvb

10 [X H ' 7 41 48 89 16.8 7223 =V—5AY ~—F~ v

1 |E&F XK FC S 39 37 76 3.6 72.4

2 [k XK ¥k 42 40 82 9.6 72.4

13 |% G| * 37 45 82 9.6 72.4

4 [ B = — = » 47 47 94 21.6 72.4

15 |# (L BOE 51 43 94 21.6 72.4|FyL—R)—R— T A T—

16 | B G 48 57 105 32.4 72.6

17 | % [ER = 41 45 86 13.2 72.8

18 (& W B K T 44 42 86 13.2 72.8

19 | R b2 47 51 98 25.2 72.8

20 [k — 48 50 98 25.2 72.8|~—2&uF ~ULk

21 |3 B SR & 47 51 98 25.2 72.8

22 |z H m T 44 47 91 18 73

23 | W Br 44 46 90 16.8 73.2

24 (B R X B T 47 54 101 27.6 73.4

25 |4 i B 37 39 76 2.4 13.6|FLo v & T 47 BV
26 |'= M Mmoo T 38 44 82 8.4 73.6

27 [k g2 % 51 43 94 20.4 73.6

28 |2 H & o & 43 44 87 13.2 73.8|CASTEL BAJAC h—h 37
29 | B B £ T 43 44 87 13.2 73.8

30 |RE R /3 43 44 87 13.2 73.8|~—27 &)} TV Rh—h
31 | 2 w1 42 38 80 6 74

32 (i | A& Z 42 50 92 18 74

33 A £ = U A 49 49 98 24 74

34 [E G S 40 38 78 3.6 74.4

35 [#k HF X T 38 40 78 3.6 T4 A[BFERAHT AT —FEv b
36 |g K e AR 45 51 96 21.6 74.4

37 | K W W 7 48 47 95 20.4 74.6

38 Bt [ 5 T 51 50 101 26.4 74.6

39 (% + & 50 50 100 25.2 74.8

40 M ¥ 4 E T 43 44 87 12 T5[FBEZL O 5ke

41 (B E b Fr 51 54 105 30 75

42 |F W 7 L 56 55 111 36 75

43 P wr 42 44 86 10.8 75.2

44 @ H O X R T 43 49 92 16.8 75.2

45 [Fr B 7 49 49 98 22.8 75.2|CAPON RV )L 1

46 |7F R = 7 42 43 85 9.6 75.4

47 & K = 45 40 85 9.6 75.4

48 | B % % 47 44 91 15.6 75.4

49 [E B £ = T 48 55 103 27.6 75.4

50 |/ Ak &/ X F 44 46 90 14.4 75.6\U7 7 /NRY)LK
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JEAT K4 kr | B4 | B | Total | HDCP [ &vh i
51 [ &K % 47 43 90 14.4 75.6
52 | A NI &®OIE 41 49 90 14.4 75.6
53 |m W *x M 46 43 89 13.2 75.8
54 | o X 5 F 44 51 95 19.2 75.8
55 (A K ¥ T 44 44 88 12 76|27 v A% 3000
56 [BF A BHoO% 44 44 88 12 76
57 |H H O A T 44 44 88 12 76
58 (W > H T S 47 47 94 18 76
59 [B& b B A 50 56 106 30 76
60 =  4F H ES 54 58 112 36 76| —ARE—7
61 | FF %+ 45 48 93 16.8 76.2
62 [t W T 50 49 99 22.8 76.2
63 & I ¥ T 49 50 99 22.8 76.2
64 [#Hr H n 7 48 51 99 22.8 76.2
65 (K # R 46 46 92 15.6 76.4|BLoT MY
66 (b W & 2 T 50 48 98 21.6 76.4
67 & & S 3 51 47 98 21.6 76.4
68 |HI m] £ T 49 55 104 27.6 76.4
69 | AT w7 45 46 91 14.4 76.6
0 &8 K # T 40 38 78 1.2 76.8|BS LT 4— AKX —
(O Bl o~ M€ 46 44 90 13.2 76.8
72 8 u] "o 41 49 90 13.2 76.8
73 |12 A /N v 45 57 102 25.2 76.8
oM T R 52 50 102 25.2 76.8
75|18 K E & 50 52 102 25.2 76.8|2— 27 L A—T—
%6 |% M S 50 52 102 25.2 76.8
o B AR 9w 45 56 101 24 77
T G Ny A 55 52 107 30 77
79 (H M =% 44 44 88 10.8 77.2
80 B T 45 49 94 16.8 172027 —VREiN& 7L —#(34)
81 |l i BT 49 45 94 16.8 77.2
82 | E & = TF 49 51 100 22.8 77.2
83 |fa * 7 50 56 106 28.8 77.2
84 |k W e F 51 55 106 28.8 77.2
8 | H T D & 46 47 93 15.6 17 ARHE& VLB & DI &RF T
86 | & £ ® T 50 49 99 21.6 77.4
87 |/ Ak T 49 50 99 21.6 77.4
88 | B O B D 49 50 99 21.6 77.4
89 (& [ [ 48 51 99 21.6 TTAR=I=F Y X T 4=\ &~y NI/ —=351
90 |[® . &= ok KR 40 46 86 8.4 77.6|NB /A —
91 | & R 46 52 98 20.4 77.6
92 |- &' Vi 49 55 104 26.4 77.6
93 | IR 1 T 50 54 104 26.4 77.6
94 B £ X E£ T 45 51 96 18 78
95 & B = h % 57 45 102 24 8[~ L —FF
9% |#E IR IS < 54 54 108 30 78
97 |/ B H B E 58 50 108 30 78
98 | B A x T 49 46 95 16.8 78.2
99 |k M B T 48 53 101 22.8 78.2
100 (& #® = M F 47 47 94 15.6 78.4|Brighte EpH%s
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01 (@ & W & T 51 49 100 21.6 78.4

102 |5 5] H ES 57 43 100 21.6 78.4

103 (B I FE 47 53 100 21.6 78.4

104 |5 M Mo AR 54 52 106 27.6 78.4

105 M I & R % 56 50 106 27.6 84| KT 4—H>
106 | W [N 44 49 93 14.4 78.6

107 |8 K » B D 50 49 99 20.4 78.6

108 |7 A w » Y 44 47 91 12 79

109 |#= Bk E 50 47 97 18 79

110 3R f& HO=E 52 51 103 24 9|1 ok
111 | 5] IE E 55 54 109 30 79

1z |7 il T & 60 55 115 36 79

13 (B X A %E T 47 49 96 16.8 79.2

114 |& M B E 53 49 102 22.8 79.2

115 |4 & * 7 56 52 108 28.8 79.2( 1L 4 SHER By h
116 |K 3k G 53 61 114 34.8 79.2

DA B i B T 44 45 89 9.6 79.4

118 |A&  fH T 48 47 95 15.6 79.4

19 i K oA 48 47 95 15.6 79.4

120 ([ W B L+ 50 57 107 27.6 79.4|SMOEELESS Z'U/v
121 | M m 5 T 52 55 107 27.6 79.4

122 |k #& x B 48 46 94 14.4 79.6

123 |l K BT 51 49 100 20.4 79.6

124 | GE ' T 54 52 106 26.4 79.6

125 |F JI A 54 52 106 26.4 79.6|BOSSO vk
126 | E S 52 54 106 26.4 79.6

127 [k & n FH T 53 46 99 19.2 79.8

128 @ # Lo F 51 54 105 25.2 79.8

129 (& 4 T =B 55 49 104 24 80

130 [ = T &K 50 54 104 24 80[icelady

131 (B F W OB T 55 55 110 30 80

132 [ 2 L o X 56 54 110 30 80

133 |8 B & E T 51 46 97 16.8 80.2

134 |[A /R X B T 51 52 103 22.8 80.2

135 |4 = xR 57 58 115 34.8 80.2|/ X7 &k
136 [ & ®wm F F 49 53 102 21.6 80.4

137 |® MO & F 53 55 108 27.6 80.4

138 |2 & K FE T 53 55 108 27.6 80.4

139 |/ Ak P/ e 54 54 108 27.6 80.4

140 |& W N 45 48 93 12 81|/ 8=V =AY v a—Rr—2A
141 [/ B E B E 51 48 99 18 81

142 (& & & B & 49 56 105 24 81

143 |2 A oA 55 50 105 24 81

144 (& I T 60 57 117 36 81

45 W R S 55 55 110 28.8 8l.2|FE vty
146 b W B &£ F 57 59 116 34.8 81.2

47 |8 K E o 48 43 91 9.6 81.4

148 | & OB Bt 52 51 103 21.6 81.4

149 |Fn FH Lo r 51 52 103 21.6 81.4

150 | ¥ w1 60 61 121 39.6 81.4|T—fal JKARZR
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151 [ 7 % F 55 47 102 20.4 81.6

152 & & ¥ R = 54 54 108 26.4 81.6

153 [® % =H m = 55 59 114 32.4 81.6

54 |2 X B &K B 55 52 107 25.2 81.8

155 [} = ooz 55 58 113 31.2 81.8|7vh~yh—Tp—

156 |#& B B % 55 64 119 37.2 81.8

157 |2 RE LI = 57 55 112 30 82

158 (B & N N 63 54 117 34.8 82.2

159 M H A 59 58 117 34.8 82.2

60 | B A B = 58 65 123 40.8 82.2|F¥rU=A U7 —kvh

161 | B A E T 57 52 109 26.4 82.6

162 | W W # & 59 50 109 26.4 82.6

163 |3 7 & 57 58 115 32.4 82.6

164 [& B T W I 52 56 108 25.2 82.8

165 |#= g = 52 62 114 31.2 82.8| XUk BFIvIE—H—

166 | 1l SR A 56 51 107 24 83

167 |&% H w7 59 64 123 39.6 83.4

168 |#= Bk P 64 59 123 39.6 83.4

169 (& A | % 61 62 123 39.6 83.4

170 |& % 56 59 115 31.2 83.8|F¥HU A TUxyb8’

7 |+ B B A 50 52 102 18 84

72 |5 F CINE 57 66 123 38.4 84.6

173 e B Hm E T 58 52 110 25.2 84.8

174 |t & 7 59 56 115 30 85

175 |4 2] o 7 64 51 115 30 85|1F vyt FyyS

e oA o~ U T 50 52 102 16.8 85.2

177 | # EE 3 57 59 116 30 86

178 |I'm W X Xk W 63 53 116 28.8 87.2

179 [ H * T 64 60 124 34.8 89.2

180 |= K &5 F 71 58 129 39.6 89.4|NINNJA zZ—RL AIFH—

181 |ff AR #w T 58 64 122 32.4 89.6

182 | A [ 61 69 130 39.6 90.4

BB & 7 71 69 140 40.8 99.2[V7 7 I

BM |F& H #w & 65 76 141 40.8 100.2|~—2 &) R—NVI1R)—T &BAT L H#—

BG |AH B = 37 39 76 2.4 73.6|/ 3=V =27 1Y HR—)lr—=A
SINE /HEr—N 724V &EPFADT —AAT L & A/RA AT Y




